EXPONENT & MONOMIAL WORKSHEET

FIND THE VALUE OF EACH EXPRESSION:

1) 5= 2) 2= 3) 6= 4) 9 =

5) 100% = 6) 6" = 7) 107 = 8) 3’ =

9) 4° = 10) 12* = 11) 16° = 12) 27'=
SimMpPLIFY EACH PRODUCT:

13) 10 10” = 14) a’ ed” = 15) oct=

16) d7.d9 — 17) xZe.xSe — 18) wlOS.w1030 =

19) a®eb’ = 20) 107 10" = 21) glegeg' =
SiMPLIFY EACH PRODUCT:

22) (2x°)(4x'y*)= 23) (-3a’b)(6ab'c)= 24) (7¢°)(12¢°r° ) =

25) (11c*)(-10c'd) = 26) (9x]°zz)(—x5y3)= 27) (-81°¢)(-7 f2g’h)=

28) (1.3a6b”05)(0.5a2b03)= 29) (—2x22)(—4y22)(—3xyz)= 30) (a"bycz)(a’bxc’)=



SIMPLIFY EACH EXPRESSION:

3D (x2) = 32) (a) = 33) (°) = 34) (w?)" =

35) (5) = 36) (237) = 37) (=) = 38) (4°) =

39) (8¢°) = 40) (-3r°) 41y (y'a) =

41y (=cn°) = 42) (-150°%") = 43y (RY(K) =
a4y (35°) (xy2) = 45) (41°) (28°h) = 46) (14a'0°) (ac’)

EVALUATE EACHX=5,Y=-1,ANDZ =4

47) y*= 48) 3x’ = 49) 2y = 50) z* =

51) (yz) = 52) (yx) = 53) x’z¥= 54) y* =

55) What is the area of a square with the length of a side equaling 3a°?

56) What is the area of the rectangle with the width of 6x* and the length of 12x°?



SIMPLIFY EACH QUOTIENT AND THEN FIND THE VALUE OF THE RESULT:

106 417 9210 2y+1 8r+4
S 1= 58) — = 59) g7 = 60) == 61) o=

SIMPLIFY EACH EXPRESSION:

ol el e el
y d c r

450 Y 24" e 24"
) (tSrs j ) ( " %) 4e
67‘3 _4056 ?‘ldlﬁeﬁ
69) —= 70) ———= Ny ——=
) 2r ) 20s° ) 7d"e’
g 535 5 414
72) 16w'r™ _ 73) a 2b 3c = 74) 4.2xgyq _
A -a’b’c 0.6x"y’

s e )



EVALUATE EACH QUOTIENT IF X=2, Y=-2, AND Z=10:

3 4 3

78) == 79) 2= 30) X2 -

X Yy xy

4.2 2 3 (3ay )
g1) 22— 82) Oz) _ 83) Lg'_‘;ﬂz

zXy z O

x+1 X+x X 3
84) = 85) T = 86) (—ZJ -

z z Y

Exponent Rules Review Worksheet

Product Rule: When multiplying monomials that have the same base, add the exponents.

Example 1: x-x° x*=x =X
Example 2: (2x2y)(—3x3y4) =2.(-3)x*x’-y-y' =—6x°y

Power Rule: When raising monomials to powers, multiply the exponents.

(xm )" = ™"
Example 3. (X2y3)4 = X2 o4 y3 o4 _ X8y12
Example 4: (2x%yz2)? = 23 x**3 y?> 223 = 8x%y*2°

Quotient Rule: When dividing monomials that have the same base, subtract the exponents.

x m-n
& =
xn
3 56
Example 5: — = x> =x’ Example 6: o 562 =5
X
3 5 3 5
Example 7: AL n4 LN e
—9mn -9 m n



d.

8.5, -0.45, 25, -85, 045,-2.5

Circle the largest value in each pair.

a. 4.2 x 10" or 4.2 x 102
b. 2.6 x10* or 7.1 x 102
. 5.7 x10° or 9.3 x 102

Circle the largest value in each pair.

a  48x10° or  -48 x 10*
b. 9.2 x102 or -7.8 x 102
C. -1.5x 10°  or -6.5 x 102

smallest

HINT
If the numeric value and the exponent are both
positive
as the exponent of 10 gets larger, the value
gets larger.

HINT
If the numeric value is negative and the
exponent are positive
as the exponent of 10 gets larger, the value
gets smaller.

Arrange each of the values in order from largest to smallest.

a. '?3 s 11(())33 largest
X
-3.3 x 10 I
smallest
b. 6.7 x10? largest
23 x10° I
-5.5 x 10
smallest




Order the values in scientific notation from largest to smallest using the powers of 10.

10 10 10>  10* 10 10" 10 107 107

4.0 x 10* Largest 40 x
40x ) -4.0 x 107
40x -4.0x
40 x -40x
4.0 x 10° S40%x
40 x -40x
40 x -40x
40x Jv -40x
4.0 x Smallest 4.0 x

Arrange the values in order from largest to smallest, and then complete
the following statement below.

50 %10 - largest
50x107° I
50 x1072

smallest

As the exponent of 10 increases, the value of the number

(increases/decreases)

Circle the larger value in each pair, and complete the following statements.

a. i 52 x107",2.5 x107
ii. 8.8 x107,4.3 x107
iii. 1.4 x1072,7.1 x107*

b. Each value in the above question has a numeric value and a
exponent of 10. (positive/negative)

(positive/negative)

C. Each value in the above question represents a number between 0 and

(+1/-1)



Arrange the values in order from largest to smallest, and then complete
the statement.

38 s 13:? largest

-4, x

2.0 x107 — I
smallest

As the exponent of 10 increases, the value of the number

{increases/decreases)

Circle the larger value in each pair, and complete the statements.

a. i. 45x%x107%,-1.5 x107
ii. 5.0 x 107", -4.7 x 1072
iii. -1.5x107%,-4.6 x107°
b. Each value in the above question has a numeric value and a
exponent of 10. (positive/negative)

(positive/negative)

c. Each value in the above question represents a number between 0 and

(+1/-1)

Arrange each of the values in order from largest to smallest.

a. 2.3 x10° largest
56 x10™ I
-1.7x10°°

smallest

b. 43 x107 I

15 sal0F° argest
74 %107 = —— = I
smallest




Name =

Adding & Subtracting Monomials Worksheet 1

Both terms have the same variable to sume degree; Single digit numbers.

Find each sum or difference.

1) 3y1+dy2= 2) 143+ 4=
3) -Sp+(-Tp)= 4) Vés+ (-4s)=
5 Tn+2In= 6) -40q-14q=
7) 15h=21h= 8) 24d-16=

9) 56x2+31x2= 10) -20y-20y =
1) z4-(-6z%) = 12) 25d3+ 75d3 =
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